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1. dMUE
A B XA o= 2 |otd & S 2,086
ZASH | FD 2= |ASta T ALY A-6827 ==Xt | 2012.06.05
M2 XEAI2 MW= |olle &dtH SFe2| 88-1 M= At 2012.06.05
2. =EZAN 2
a4 A & = 2 o 2 a4 A & = 2 © 2
2A01255 (pH) 6.9 - ZHEBEZ2S 472 MPN/100mé
S}stE A A QS (COD) - mg/L AL R 12 MPN/100m¢
MBS A A QP2 (BOD) 0.5 mg/L CH& 274 (Coliform Group Unit) - MPN/100m¢
2722 (SS) 1 mg/L &4 (DO) 8.0 mg/L
9t € 2 (Cd) 225 mg/L 1.1.1-E2/222 0 E (1.1.1-T.C.E) 225 mg/L
2 (As) sdE mg/L ECISZZ0Ed (T.C.E) sdE mg/L
= 2 (Ho) sdE mg/L HECZZSZZ0EE (P.C.E) sdE mg/L
=4 (Pb) E2s mg/L SJ|¢l E2s mg/L
6JF A= (Cr6+) S mg/L Z2/222|UI0/EISHIHY (PCB) S mg/L
Al @H(CN) sdE mg/L AN SHEFA (CCly ) sdE mg/L
A H (SOI2AHEALH) EZE mg/L 12-C2==20E mg/L
It gt & (Carbaryl) E2s mg/L CI2&2 20l & (Dichloromethane) E2s mg/L
H = (Phenol) sdE mg/L #l  H (Benzene) sdE mg/L
= 4 (Fr) 0.20 mg/L S2Z Z X E (Chloroform) 0.001 mg/L
Ml &l & (Se) EZE mg/L Clolg sl & T 0l E (DEHP) 28 mg/L
22LIOFEE A (NH; = N) sdE mg/L OtE| 2 (Sb) sdE mg/L
AN EA (NO; - N) 1.2 mg/L
ot & A 4 28
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8 X R (MO S EAY L)
Ab 2

H o S AFAN A=A (2,087)
SEAMSCAMNSE SEHIAAN S a8 6o &80 2ot CtS3t 201 =2 H Al
HR™AE DR
1. dMUE
2 8 H5e2 = #lx== gd=ds 2,087
DAIEE | HD| SI2IHE | A5l AL A -6827 SESIPNS 2012.06.05
IE=a=t1 DAIFSNE=4 MW= |olg2 &4t 532 88-1 M= At 2012.06.05
2. =EZAN 2
a4 A & = Jl &= 2 | &< a4 A & = Jl &= Z2 | &9
2/ BHAl (Total Colonies) 100 0|5t 0 CFuU/m¢ | C| 2 Z 2 il E(Dichloromethane) 0.020I5t| & | mg/L
S &2 (Total Coliforms) =3 2HE [ /100m | 81 H (Benzene) 0.01 0|Gt| &= | mg/L
=2 80 &= 2 (Fecal Coliforms) =3 =dE [ /7100m | E 2 9 (Toluene) 0.70l5t | E&E | mg/L
CH & (Escherichia Coli) - - /100m¢ | O £ HIFE (Ethylbenzene) 0.30l5t | EHE | mg/L
= (Pb) 0.010I5t| E&F | mg/L | A & &l (Xylene) 050/t | EdE | mg/L
2 2 (F) 150/6t | €8& | mg/L | 1.1-CI22=2 0 €8l (1.1-D.C.E) | 0.03 0l5t| S|HE | mg/L
B 2 (As) 0.010I5t| 225 | mg/L | AIESIELA (CCly ) 0.002 0|5t &&E | mg/L
Ml el & (Se) 0.010/5t| €2& | mg/L | & & (Hardness) 300 0|5t 42.0 mg/L
%= 2 (Hg) 0.001 0|5l A& | mg/L | AL EAHIS 10 05t 2.91 mg/L
Al ©F(CN) 0.010I5t| E&EZ | mg/L | & A (Odor) 23 235 -
3 & (Cr) 0.050I5t| & | mg/L | & (Taste) 20| 20l -
ADLIOIEE A (NHs - N) 05005t | 22& [ mg/t | 7 2l (cu) 10l3f | 0.010 | mg/L
HASAE A (NO; - N) 10015t | 222 | mg/L | ¥ = (Color) 5Z 0t | 225 [
It & &(Cd) 0.005 0I5t &&= | mg/L | Ml Al (ABS) 050/t | EdE | mg/L
g = (B) 1.00/5l | 22& | mg/L | 220125 (pH) 5.8 ~ 85| 6.7 -
H = (Phenols) 0.005 0I5t &&= | mg/L | OF & (Zn) 3 0lot 0.048 mg/L
EE2|S 2 M E (THMs) 0.10l5t | 0.022 | mg/L | 22012 250 013} 6 mg/L
22 Z X E (Chloroform) 0.08 0|5t| 0.015 mg/L | SE&E= (R.E) 500 0l Gt 126 mg/L
CtO| 0} XI = (Diazion) 0.020I5t| &8 | mg/L | & (Fe) 0.30l5t | EHE | mg/L
T2t X2 (Parathion) 0.06 0IGt| E&EE | mg/L | & 2t (Mn) 0.050I5t| &= | mg/L
12-ClE20-3-222020 0.003 05 22= [ mg/L | & S (Turbidity) 0.50l5t | 0.02 | NTU
HILIEZ X2 (Fenitrothion) 0.04 0|5t | E&E mg/L | 40|12 200 0lct | &4 | mg/L
I} Ht 2 (Carbaryl) 0.07 0|5t | E&E mg/L | £20I&s (Al) 0.20l5t | E&E | mg/L
1.1.1-ER2I2220EH(1.1.1-TCE) | 0.1 05t | 225 | mg/L | Ega 0~40 ]| 090 [ mg/L
HEeI 22208l (PCE) 0.01 0lct| SHE mg/L | ECIZZZ20IMELIEE (TCAN) [0.004 0|5t 22Z | mg/L
Ec|2Z2 20 Ed (TCE) 0.03 0|5t | SHE mg/L | EZ0tAIENAIE (HAA) 0.10I5t | 8% [ mg/L
22215101230/ (CHR) 0.03015t| 22= | mg/L | 22202220 E (BDCM) 0.03 013t 0.005 | mg/L
C1E 22010 HI ELIE 2 (DBAN) 0105t | 22= | mg/L | 12222220/ E (DBCM) 0.1 0I5t | 0.002 | mg/L
CI2220INIELIEE (DCAN) 0.09 0lct| SHE mg/L | 1,4-CH0| =S4t 0.050I5t | 2&8& | mg/L
o ERIEEEEESEETEE
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Mo 2 AEAAN SFA (2,091)
SEAMSCANSE SEHIAAN S =58 M6 &80 2ot CtS3t 201 =2 H Al
HXNE DRELC
1. dMUE
=N (= DA e S5 2 lsas S 2,091
ZASH | FD 2= |ASta T ALY A-6827 ==Xt | 2012.06.05
M2 XEAI2 MW= |oled2 SXH 552 403 M= At 2012.06.05
2. =EZAN 2
a4 A & = 2 o 2 a4 A & = 2 © 2
=40l25% (pH) 6.6 - SHERZ 250 MPN/100m¢
Stet N A A QT E (COD) 2.4 mg/L AL R 2 MPN/100m¢
MBS A A QP2 (BOD) - mg/L CH& 274 (Coliform Group Unit) - MPN/100m¢
2722 (SS) 1 mg/L &4 (DO) 8.1 mg/L
9t € 2 (Cd) 225 mg/L 1.1.1-E2/222 0 E (1.1.1-T.C.E) 225 mg/L
2 (As) sdE mg/L ECISZZ0Ed (T.C.E) sdE mg/L
= 2 (Ho) sdE mg/L HECZZSZZ0EE (P.C.E) sdE mg/L
=4 (Pb) E2s mg/L SJ|¢l E2s mg/L
6JF A= (Cr6+) S mg/L Z2/222|UI0/EISHIHY (PCB) S mg/L
Al @H(CN) sdE mg/L AN SHEFA (CCly ) sdE mg/L
A H (SOI2AHEALH) EZE mg/L 12-C2==20E mg/L
It gt & (Carbaryl) E2s mg/L CI2&2 20l & (Dichloromethane) E2s mg/L
H = (Phenol) sdE mg/L #l  H (Benzene) sdE mg/L
= 4 (Fr) 0.18 mg/L S2Z Z X E (Chloroform) 0.001 mg/L
Ml &l & (Se) EZE mg/L Clolg sl & T 0l E (DEHP) 28 mg/L
22LIOFEE A (NH; = N) sdE mg/L OtE| 2 (Sb) sdE mg/L
AN EA (NO; - N) 2.6 mg/L
ot & A 4 28
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8 X R (MO S EAY L)
Ab 2

Mo S AFAN A=A (2,092)
SEANMTAILE SHZUAN X =2 M6 &0 2ot G 201 =Z2 & Al
HR™AE DR
1. dMUE
2 8 H5e2 = #lx== gd=ds 2,092
DAIEE | HD| SI2IHE | A5l AL A -6827 SESIPNS 2012.06.05
M2 (XEAI2 MW= lolg2 SXH SE2| 403 M= At 2012.06.05
2. WA 2
a4 A & = Jl &= 2 | &< a4 A & = Jl &= Z2 | &9
2/ BHAl (Total Colonies) 100 0|5t 0 CFuU/m¢ | C| 2 Z 2 il E(Dichloromethane) 0.020I5t| & | mg/L
S &2 (Total Coliforms) =3 2HE [ /100m | 81 H (Benzene) 0.01 0|Gt| &= | mg/L
=2 80 &= 2 (Fecal Coliforms) =3 =dE [ /7100m | E 2 9 (Toluene) 0.70l5t | E&E | mg/L
CH & (Escherichia Coli) - - /100m¢ | O £ HIFE (Ethylbenzene) 0.30l5t | EHE | mg/L
= (Pb) 0.010I5t| E&F | mg/L | A & &l (Xylene) 050/t | EdE | mg/L
2 2 (F) 150/6t | €8& | mg/L | 1.1-CI22=2 0 €8l (1.1-D.C.E) | 0.03 0l5t| S|HE | mg/L
B 2 (As) 0.010I5t| 225 | mg/L | AIESIELA (CCly ) 0.002 0|5t &&E | mg/L
Ml el & (Se) 0.010/5t| €2& | mg/L | & & (Hardness) 300 0|5t 26.0 mg/L
A~ 2 (Hg) 0.001 0I5l EZZ | mg/L | BUALSAHE 10 0/t 1.96 | mg/L
Al ©F(CN) 0.010I5t| E&EZ | mg/L | & A (Odor) 23 2 -
3 & (Cr) 0.050I5t| & | mg/L | & (Taste) 20| 20l -
AD2LI0FEE A (NH; - N) 0.5 0| ot 0.01 mg/L | == 2l (Cu) 1 0lat =dE | mg/L
HASAE A (NO; - N) 10 0I5t 2.5 mg/L | % & (Color) 5Z 0t | 225 [
It & &(Cd) 0.005 0I5t &&= | mg/L | Ml Al (ABS) 050/t | EdE | mg/L
g = (B) 1.00/5l | 22& | mg/L | 220125 (pH) 5.8 ~ 85| 6.7 -
H = (Phenols) 0.005 0I5t &&= | mg/L | OF & (Zn) 3 0lot 0.003 mg/L
EE2|S 2 M E (THMs) 0.1015F | 0.003 | mg/L | 4012 250 013} 24 mg/L
22 Z X E (Chloroform) 0.08 0|5t | 0.002 mg/L | SE&E= (R.E) 500 0l Gt 97 mg/L
CtO| 0} XI = (Diazion) 0.020I5t| &8 | mg/L | & (Fe) 0.30l5t | EHE | mg/L
T2t X2 (Parathion) 0.06 0IGt| E&EE | mg/L | & 2t (Mn) 0.050I5t| &= | mg/L
12-ClE20-3-222020 0.003 05 22= [ mg/L | & S (Turbidity) 0.50l5t | 0.02 | NTU
HILIEZ X2 (Fenitrothion) 0.04 0|Gt| S HE mg/L | 40|12 200 0] 6t 14 mg/L
It gt & (Carbaryl) 0.07 0I5t | B3 E mg/L 220|5 (Al 0.2 0| &t EZ2E | mg/L
1.1.1-ER2I2220EH(1.1.1-TCE) | 0.1 05t | 225 | mg/L | Ega 0~40 ]| 0.80 [ mg/L
HEeI 22208l (PCE) 0.01 0lct| SHE mg/L | ECIZZZ20IMELIEE (TCAN) [0.004 0|5t 22Z | mg/L
Ec|2Z2 20 Ed (TCE) 0.03 0|5t | SHE mg/L | EZ0tAIENAIE (HAA) 0.10I5t | 8% [ mg/L
22215101230/ (CHR) 0.03015t| 22= | mg/L | 22202220 E (BDCM) 0.03 0I5t 221= [ mg/L
C1E 22010 HI ELIE 2 (DBAN) 0105t | 22= | mg/L | 12222220/ E (DBCM) 0105t | 222 | mg/L
CI2220INIELIEE (DCAN) 0.09 0lct| SHE mg/L | 1,4-CH0| =S4t 0.050I5t | 2&8& | mg/L
o & S=g FEIEN AHE
2 H & g 5
]l i
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SEANMTAILE HZUAN S =2 M6 &0 2/otH G 201 =E & Al
HXNE DRELC
1. dMUE
=N (= DA e o= 2 lsas S 2,096
ZARE || OlZIHS |AtGt4C At 6827 &=2X | 2012.06.05
WIE=a=t1 DAIFSNE=4 MW= |olle ot 222 654-1 M= At 2012.06.05
2. =EZAN 2
a4 A & = 2 o 2 a4 A & = 2 © 2
2025 & (pH) 6.8 - ZHER2S 816 MPN/100me
S}stE A A QS (COD) 7.4 mg/L cALUHEI2S 0 MPN/100m¢
MBS A A QP2 (BOD) - mg/L CH& 274 (Coliform Group Unit) - MPN/100m¢
2722 (SS) 2 mg/L &4 (DO) 8.0 mg/L
9t € 2 (Cd) 225 mg/L 1.1.1-E2/222 0 E (1.1.1-T.C.E) 225 mg/L
2 (As) sdE mg/L ECISZZ0Ed (T.C.E) sdE mg/L
= 2 (Ho) sdE mg/L HECZZSZZ0EE (P.C.E) sdE mg/L
=4 (Pb) E2s mg/L SJ|¢l E2s mg/L
6JF A= (Cr6+) S mg/L Z2/222|UI0/EISHIHY (PCB) S mg/L
Al @H(CN) sdE mg/L AN SHEFA (CCly ) sdE mg/L
A H (SOI2AHEALH) EZE mg/L 12-C2==20E 28 mg/L
It gt & (Carbaryl) E2s mg/L CI2&2 20l & (Dichloromethane) E2s mg/L
H = (Phenol) sdE mg/L #l  H (Benzene) sdE mg/L
2 2 (Fr) sdE mg/L 22 Z X E (Chloroform) 0.001 mg/L
Ml 8l = (Se) 28 mg/L CIHE A ZE e 0l E (DEHP) 28 mg/L
22LIOFEE A (NH; = N) 0.08 mg/L OtE| 2 (Sb) sdE mg/L
AN EA (NO; - N) 1.8 mg/L
ot S| A 4 28
2 H g g =
]l i
2
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8 X R (MO S EAY L)
Ab 2

Mo S AFAN A=A (2,097)
SEAMSCAMNSE SEHIAAN S a8 6o &80 2ot CtS3t 201 =2 H Al
HR™AE DR
1. dMUE
g H g |xes = Al d83 2,097
DAIEE | HD| SI2IHE | A5l AL A -6827 SESIPNS 2012.06.05
M2 (XEAI2 M ol 2ot 22| A 30-3 M= At 2012.06.05
2. =EZAN 2
a4 A & = Jl &= 2 | &< a4 A & = Jl &= Z2 | &9
2/ BHAl (Total Colonies) 100 0|5t 0 CFuU/m¢ | C| 2 Z 2 il E(Dichloromethane) 0.020I5t| & | mg/L
S &2 (Total Coliforms) =3 2HE [ /100m | 81 H (Benzene) 0.01 0|Gt| &= | mg/L
=2 80 &= 2 (Fecal Coliforms) =3 =dE [ /7100m | E 2 9 (Toluene) 0.70l5t | E&E | mg/L
CH & (Escherichia Coli) - - /100m¢ | O £ HIFE (Ethylbenzene) 0.30l5t | EHE | mg/L
= (Pb) 0.010I5t| E&F | mg/L | A & &l (Xylene) 050/t | EdE | mg/L
2 2P 1506t | 2&8& | mg/L | 1.1-CI28=20 €8l (1.1-D.C.E) | 0.030I5t| 23F | mg/L
B 2 (As) 0.010I5t| 225 | mg/L | AIESIELA (CCly ) 0.002 0|5t &&E | mg/L
Ml el & (Se) 0.010/5t| €2& | mg/L | & & (Hardness) 300 0|5t 43.0 mg/L
%= 2 (Hg) 0.001 0|5l A& | mg/L | AL EAHIS 10 05t 2.91 mg/L
Al ©F(CN) 0.010I5t| E&EZ | mg/L | & A (Odor) 23 2 -
3 & (Cr) 0.050I5t| & | mg/L | & (Taste) 20| 20l -
ADLIOIEE A (NHs - N) 05015t | 0.03 | mg/L | & 2l (Cu) 10/t | 22& | mg/L
HASAE A (NO; - N) 10 0I5t 2.4 mg/L | % & (Color) 5Z 0t | 225 [
It & &(Cd) 0.005 0I5t &&= | mg/L | Ml Al (ABS) 050/t | EdE | mg/L
g = (B) 1.00/5l | 22& | mg/L | 220125 (pH) 58 ~ 85| 6.7 -
H = (Phenols) 0.005 0I5t &&= | mg/L | OF & (Zn) 3 0lot 0.050 mg/L
EE2|S 2 M E (THMs) 0.1 0I5t | 0.001 | mg/L | 22012 250 013} 24 mg/L
22 Z X E (Chloroform) 0.08 0|5t | 0.001 mg/L | SE&E= (R.E) 500 0l Gt 90 mg/L
CtO| 0} XI = (Diazion) 0.020I5t| &8 | mg/L | & (Fe) 0.30l5t | EHE | mg/L
T2t X2 (Parathion) 0.06 0IGt| E&EE | mg/L | & 2t (Mn) 0.050I5t| &= | mg/L
12-ClE20-3-222020 0.003 05 22= [ mg/L | & S (Turbidity) 0.50l5t | 0.12 | NTU
HILIEZ X2 (Fenitrothion) 0.04 0|5t | E&E mg/L | 40|12 200 0l ot 10 mg/L
I} Ht 2 (Carbaryl) 0.07 0|5t | E&E mg/L | £20I&s (Al) 0.20l5t | E&E | mg/L
1.1.1-ER2I2220EH(1.1.1-TCE) | 0.1 05t | 225 | mg/L | Ega 0~40 | 0.90 | mg/L
HEeI 22208l (PCE) 0.01 0lct| SHE mg/L | ECIZZZ20IMELIEE (TCAN) [0.004 0|5t 22Z | mg/L
Ec|2Z2 20 Ed (TCE) 0.03 0|5t | SHE mg/L | EZ0tAIENAIE (HAA) 0.10I5t | 8% [ mg/L
22215101230/ (CHR) 0.03015t| 22= | mg/L | 22202220 E (BDCM) 0.03 0I5t 221= [ mg/L
C1E 22010 HI ELIE 2 (DBAN) 0105t | 22= | mg/L | 12222220/ E (DBCM) 0105t | 222 | mg/L
CI2220INIELIEE (DCAN) 0.09 0lct| SHE mg/L | 1,4-CH0| =S4t 0.050I5t | 2&8& | mg/L
o ERIEEEEESEETEE
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RN VR [EE P
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SEANFTAIGEE =2BA R =22 HMexe #E0l 25t TSt 201 =22 At

1. XU
g H g |xes = Al d83 2,101
DAIEE | HD| SI2IHE | A5l AL A -6827 SESIPNS 2012.06.05
IE=a=t1 DAIFSNE=4 W=D lolg2 2UHH S22l &4 M= At 2012.06.05
2. =EZAN 2
a4 A & = Jl &= 2 | &< a4 A & = Jl &= Z2 | &9
2/ BHAl (Total Colonies) 100 0|5t 0 CFuU/m¢ | C| 2 Z 2 il E(Dichloromethane) 0.020I5t| & | mg/L
S &2 (Total Coliforms) =3 2HE [ /100m | 81 H (Benzene) 0.01 0|Gt| &= | mg/L
=2 80 &= 2 (Fecal Coliforms) =3 =dE [ /7100m | E 2 9 (Toluene) 0.70l5t | E&E | mg/L
CH & (Escherichia Coli) - - /100m¢ | O £ HIFE (Ethylbenzene) 0.30l5t | EHE | mg/L
= (Pb) 0.010I5t| E&F | mg/L | A & &l (Xylene) 050/t | EdE | mg/L
g &M 15015t | & | mg/L | 1.1-CI2220Ed (1.1-D.C.E) | 0.03 0I5t EZE | mg/L
B 2 (As) 0.010I5t| 225 | mg/L | AIESIELA (CCly ) 0.002 0|5t &&E | mg/L
Ml el & (Se) 0.010/5t| €2& | mg/L | & & (Hardness) 300 0|5t 24.0 mg/L
= 2 (Hg) 0.001 0|5l A& | mg/L | AL EAHIS 10 05t 2.78 mg/L
Al ©F(CN) 0.010I5t| E&EZ | mg/L | & A (Odor) 23 2 -
3 & (Cr) 0.050I5t| & | mg/L | & (Taste) 20| 20l -
AD2LI0FEE A (NH; - N) 050/t | EdE | mg/L | #* 2l (Cu) 1 0lat =dE | mg/L
A E A (NO; - N) 10 0I5t 2.3 mg/L | % & (Color) 5Z 0t | 225 [
It & &(Cd) 0.005 0I5t &&= | mg/L | Ml Al (ABS) 050/t | EdE | mg/L
g = (B) 1.00/5l | 22& | mg/L | 220125 (pH) 58 ~85| 6.8 -
H = (Phenols) 0.005 0I5t &&= | mg/L | OF & (Zn) 3 0lot =dE | mg/L
EE2|S 2 M E (THMs) 0.1015F | 0.002 | mg/L | 24012 250 013} 24 mg/L
=2Z Z X E (Chloroform) 0.08 0IGt| 0.002 mg/L | SE&E= (R.E) 500 0|5t 240 mg/L
CtO| 0} XI = (Diazion) 0.020I5t| &8 | mg/L | & (Fe) 0.30l5t | EHE | mg/L
T2t X2 (Parathion) 0.06 0IGt| E&EE | mg/L | & 2t (Mn) 0.050I5t| &= | mg/L
12-ClE20-3-222020 0.003 05 22= [ mg/L | & S (Turbidity) 0.50l5t | 0.10 | NTU
HILIEZ X2 (Fenitrothion) 0.04 0|5t | E&E mg/L | 40|12 200 0l ot 10 mg/L
I} Ht 2 (Carbaryl) 0.07 0|5t | E&E mg/L | £20I&s (Al) 0.20l5t | E&E | mg/L
1.1.1-ER2I2220EH(1.1.1-TCE) | 0.1 05t | 225 | mg/L | Ega 0~40 ]| 0.70 | mg/L
HEeI 22208l (PCE) 0.01 0lct| SHE mg/L | ECIZZZ20IMELIEE (TCAN) [0.004 0|5t 22Z | mg/L
Ec|2Z2 20 Ed (TCE) 0.03 0|5t | SHE mg/L | EZ0tAIENAIE (HAA) 0.10I5t | 8% [ mg/L
22215101230/ (CHR) 0.03015t| 22= | mg/L | 22202220 E (BDCM) 0.03 0I5t 221= [ mg/L
C1E 22010 HI ELIE 2 (DBAN) 0105t | 22= | mg/L | 12222220/ E (DBCM) 0105t | 222 | mg/L
CI2220INIELIEE (DCAN) 0.09 0lct| SHE mg/L | 1,4-CH0| =S4t 0.050I5t | 2&8& | mg/L
o & S=g FEIEN AHE
2 H & g 5
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